SEDILI
Tav. 15 pryes

GJoF E

G, 0,' c

32 In vigore dal - Effective from 15-12-2021 g




Rif. SEATS ¥

Description Tax included

A |0037.FP1 OTK ¥—}759hik FAOK-KZ Flat bottom seat - size 1° 31,020
A |0037.FP2 Sedile fondo piatto — misura 2° Flat bottom seat - size 2° 31,020
A |0037.FP3 Sedile fondo piatto — misura 3° Flat bottom seat - size 3° 31,020
A |0037.FP4 Sedile fondo piatto — misura 4° Flat bottom seat - size 4° 31,020
A |0037.D03 OTK ¥—}239h# A/ Junior Flat bottom seat - size Junior 28,050
A |0037.D03A OTK ¥—}759hi" b 4/MINI Flat bottom seat - size Junior S 28,050
A |0037.D0 Sedile Micro fondo piatto — misura 2° Flat Bottom Mini seat - size 1° 28,050
A [0037.D2 Sedile Micro fondo piatto — misura 2° Flat Bottom Mini seat - size 2° 28,050
B [0037.E0 Sedile Micro — misura 1° Micro seat - size 1° 26,400
C |V.TPSCEI8X25 #56 W 8X25 TPSCEI screw 8x25 mm 77
D |V.TPSCEI8X55 $3% Wb 8X55 TPSCEI screw 8x55 mm 187
E (0087.00 =Rt yhI9Y%— M8/F+4AY (RED) Seat washer @ 8 mm Red 176
E |0087.00N y—bat"ybIyYe— M8/F40Y Black Seat washer @ 8 mm Black 176
F |[RP.8X17 79— D.8X17 Washer @ 8x17 mm 22
G |D.MBAA. +4nstyk M8 A.A. nut M8 33
R.P.10X30X2,5 JyY4— D.10X30X2.5 Washer @ 10x30x2,5 mm 55

I [V.TB6X15 ' 4¥29Y1- 6X15 TB screw 6x15 mm 55
J R.P.6X18 Jy¥4— D.6x18 Washer @ 6x18x1 mm 1
K |D.M6A.B. n7ay9+yM6 (F4aY) A.B. nut M6 22
0090.B0 AL Washer @ 8x30x2 mm 539




